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It scorched his plowed field and charred his stones

OVERVIEW

The Xn>>72 states that WX is more M7 than 713, since WX is 21 even by something
which is 7% "X 1°R (however M2 is not 2°71 by 1% "X 1°R). The X3 concluded
that (according to ") the "1%7 1°X which WX is 211 (and 712 1s MWD) is the case of
°12X 7700201 171 77195,

The X773 later states that one of the omissions in the X172 (according to °"7) is the
case of 17°12 w7, where there is a X1 of MW (where he is 21 if his ox trampled
the plowed field of his neighbor) over M12, where he is not 2»1. There is a dispute
between >"¥1 and MdOIN as to the meaning of 7122 3"Rwn.
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Concerning the case where the ox trampled on his plowed field; >''w9 explained
the distinction between MW and 713; that 17712 w7 is 2°°1 only by 7w, however by
912 it is not so, there is no 2117 of a M2 doing damage to 17°1, since damage to land
is not applicable by 712. Plowed land does not fall into a 2.
- ©93AN) 953 PN 722 TV KT 9123 19 PRY A1) )9 WY N¥II 1) NINT YHYUN
It seems that here too (by the distinction between WX and 712), °"w" intends to
explain the term "122 >''Rwn» similarly to how he explained it in the case of w7
17°12; namely that by a M2 damages to =51 and 2°1aR is not applicable. The
meaning of 7122 3"Xwn, both concerning MY (by 17°12 w7) and WX (by 112X 7120501 1771 79M°Y), is
that 712 is not liable for these damages, because of practical considerations (they cannot occur by
T2).

mooIn has a difficulty with s""w" interpretation:
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And there is a difficulty with his interpretation; for if this is so (that 7122 2"xXwn
means that practically there cannot be 12X 7750301 1’1 1n>°? by T3, and this
justifies the 7122 3"Xwn), then the X773 could have mentioned many other types of

damages that wx does to a stationary object, such as -
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Lot
%" does not explain the M122 2"Xwn in the case of 112K 790301 171 719, Therefore Moo assumes that the same
interpretation that *"w" gives concerning 17°32 w7 will apply here as well.
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when the fire burns his house or any other stationary objects. This type of damage
to stationary objects is inapplicable by 2. Why was it necessary to mention the unusual case of
112K 179030 171 1199, when the more common damages of W can be used?!

mooIn offers his interpretation of 22 3"Xwn:
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But rather one should say that the X121 of WX over M2 is that if the WX was mom°%
171 then he is 2911 even though it is altogether unusual that fire should damage

291 or stones (this indicates that WX is 211 even for unusual damages); however —
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This is not so by ™13, for a 72 that is less than ten 2’150 deep is w2 if the

animal died; since it is unusual for a 712 less than ten 2’19 deep to Kill an animal
(this indicates that 112 is wd for unusual damages). This is the X7 of 12 compared to WX.

SUMMARY

According to "1 the meaning of M21 3"Xwn is that damages to Yp7p (such as w7
19°12 or 1°1aR 1720201 1771 71917°7) are inapplicable by Ma.

mooIn challenges and asks that the X731 could have offered more common
examples that are 7>w by WX and not by 713, such as burning a house.

mooIn explains M2 3"RXwn to mean that M2 is MWD when something unusual
happens by a 712; if it killed "»n mnoa.

THINKING IT OVER

1. How would nooin interpret the 7122 3"Xwn by 17712 w7 (the X of MW over
T2)? Seemingly 17°12 W7 is not a 72 MIXI XKW 927 (more than any other P of
)1t

2. MPOIN maintains that "» Mo is considered "X 11X by M2.> The X3 cannot
initially identify 7122 187 11°X according to 7717 7. Why does not the X132 say that
7122 MIRT K is n Mnp?1°

? See “Thinking it over’ # 2.

* See AMNIY 73T T2 © AN O9A.
3 See footnote # 3.

® See p"nuow.

2

TosfosInEnglish.com



